S 6
3 R

FE
TETE

it

14

2%

3%

N
AR 5e

H

3/4(K)~17(B) DIREFTE
B (3/10(B) B123)ERE%

AR

L
3/17(R) H456

FRIRE A123

3/11 (k) k456

— AR

£ 3/7 (&) €123

®eH

FHIIRE £123

101 A

CEIRE)FHIIRE A123/EREED

XEBREINGITNIZAI2FE L 1 5,
classroomTEHE L £ 3,

11 &

FRIRZE K456/BRIEEQ

12| 7k

FRIRZE K45/BFRIEER

13| K

AigRR

14 &

FHIISZE £456 /BREETQD

15| &+

16| H

17| A

FRTIRE B456/BREEQ
/EEBERAD

18] X

RiEhm/ %R

19| 7k

2 REE

20| A

BHOH

211 %

aigFEx

2t

23| H

24| H

25| K

BERX (FRD) /AREEREOQ (F&)

26| 7k

27| R

28| &

291 &

301 H

31{ A

(e

Ko 3/4(K) K123 ]
K 3/12(7K) K45 —

3/14(€) 456 —




